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NEW QUESTION 1

Most commands on Linux can display information on their usage. How can this information typically be displayed?

A. By running the command with the option /? or /?7.

B. By running the command with the option ?! or ?=!.

C. By running the command with the option /doc or /documentation.
D. By running the command with the option -h or --help.

E. By running the command with the option -m or --manpage.

Answer: E

NEW QUESTION 2

A directory contains the following three files:

texts 1.txt

texts 2.txt

texts 3.csv

Which command copies the two files ending in .txt to the /tmp/ directory?

A. cp ??.txt tmp/
B. cp *.txt /tmp/
C.c

D. \.txt /tmp/

E. cp ?.txt /tmp/
F. cp $2.txt /tmp/

Answer: B

NEW QUESTION 3

What information can be displayed by top?

A. Existing files, ordered by their size.

B. Running processes, ordered by CPU or RAM consumption.
C. User accounts, ordered by the number of logins.

D. User groups, ordered by the number of members.

E. User accounts, ordered by the number of files.

Answer: B

NEW QUESTION 4

A new server needs to be installed to host services for a period of several years. Throughout this time, the server should receive important security updates from

its Linux distribution.
Which of the following Linux distributions meet these requirements? (Choose two.)

A. Ubuntu Linux LTS

B. Fedora Linux

C. Debian GNU/Linux Unstable
D. Ubuntu Linux non-LTS

E. Red Hat Enterprise Linux

Answer: AE

NEW QUESTION 5
What is true about the dmesg command? (Choose two correct answers.)

A. It traces the execution of a command and shows each step the program carries out.
B. It sends messages to the command lines of all current user sessions.

C. It displays the content of the Linux kernel’s ring buffer.

D. It immediately outputs all new messages written to the system journal.

E. It might not display older information because it was overwritten by newer information.

Answer: CE

NEW QUESTION 6
Which of the following commands adds the directory /new/dir/ to the PATH environment variable?

A. $PATH=/new/dir: $PATH

B. PATH=/new/dir: PATH

C. export PATH=/new/dir: PATH
D. export $PATH=/new/dir: $PATH
E. export PATH=/new/dir: $PATH

Answer: E

NEW QUESTION 7
FILL BLANK
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What keyword is used in a shell script to begin a loop? (Specify one keyword only, without any additional information.)

A. Mastered
B. Not Mastered

Answer: A

Explanation:
for

NEW QUESTION 8
Which of the following commands creates an archive file work.tar from the contents of the directory ./ work/?

A. tar --new work.tar ./work/

B. tar —cf work.tar ./work/

C. tar —create work.tgz —content ./work/
D. tar work.tar < ./work/

E. tar work > work.tar

Answer: B

NEW QUESTION 9
Which of the following commands finds all lines in the file operating-systems.txt which contain the term linux, regardless of the case?

A. igrep linux operating-systems.txt

B. less -i linux operating-systems.txt

C. grep -i linux operating-systems.txt

D. cut linux operating-systems.txt

E. cut [LI] [li] [Nn] [Uu] [XX] operating-systems.txt

Answer: C

NEW QUESTION 10
What information is stored in /etc/passwd? (Choose three correct answers.)

A. The user’s storage space limit
B. The numerical user ID

C. The username

D. The encrypted password

E. The user\s default shell

Answer: BCD

NEW QUESTION 10
Where is the operating system of a Raspberry Pi stored?

A. On the master device attached to the Raspberry Pi's IDE bus.

B. On a read only partition on the Raspberry Pi's firmware, next to the BIOS.
C. On aremovable SD card which is put into the Raspberry Pi.

D. On a Linux extension module connected to the Raspberry Pi's GPIO pins.
E. On rewritable flash storage which is built into the Raspberry Pi.

Answer: C

NEW QUESTION 14
A directory contains the following files:

a.txt

550 g

C.Cav

What would be the output of the following shell script? for file in *.txt

= fm;

[1E]
%]
.
[
L5
Fh
I
=
1]

* it
ab

. c.cav
. Atxt
txt

moowy
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F. txt

Answer: E

NEW QUESTION 19
What is the UID of the user root?

Al
B.-1

C. 255
D. 65536

Answer: E

NEW QUESTION 23

What is the return value of a shell script after successful execution?
Al

B.-1

C.-255

D. 255

Answer: B

NEW QUESTION 28

Which of the following statements are true regarding a typical shell script? (Choose two.)

A. It has the executable permission bit set.

B. It starts with the two character sequence #!.
C. ltis located in /usr/local/scripts/.

D. It is located in /etc/bash/scripts/.

E. It is compiled into a binary file compatible with the current machine architecture.

Answer: AE

NEW QUESTION 32

Which command copies the contents of the directory /etc/, including all sub-directories, to /root/?

A. copy /etc /root

B. cp -r /etc/* /root
C. cp -v /etc/* Iroot
D. rcp /etc/* /root

E. cp -R /etc/*.* [root

Answer: B

NEW QUESTION 35

Which of the following commands creates the ZIP archive poems.zip containing all files in the current directory whose names end in .txt?

A. zip *.txt > poems.zip

B. zcat *.txt poems.zip

C. zip poems.zip *.txt

D. zip cfz poems.zip *.txt
E. cat *.txt | zip poems.zip

Answer: C

NEW QUESTION 39
What is true about the su command?

A. It is the default shell of the root account.

B. It can only be used by the user root.

C. It runs a shell or command as another user.

D. It changes the name of the main administrator account.
E. It locks the root account in specific time frames.

Answer: C
NEW QUESTION 44
Why are web browser cookies considered dangerous?

A. Cookies support identification and tracking of users.
B. Cookies are always public and accessible to anyone on the internet.

C. Cookies consume significant amounts of storage and can exhaust disk space.

D. Cookies store critical data which is lost when a cookie is deleted.
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E. Cookies can contain and execute viruses and malware.

Answer: A

NEW QUESTION 45
What is a Linux distribution?

A. The Linux file system as seen from the root account after mounting all file systems.

B. A bundling of the Linux kernel, system utilities and other software.

C. The set of rules which governs the distribution of Linux kernel source code.

D. An operating system based on Linux but incompatible to the regular Linux kernel.

E. A set of changes to Linux which enable Linux to run on another processor architecture.

Answer: B

NEW QUESTION 50

Which of the following commands sorts the output of the command export-logs?
A. export-logs < sort

B. export-logs > sort

C. export-logs & sort

D. export-logs | sort

E. export-logs <> sort

Answer: D

NEW QUESTION 52

Which of the following commands are used to get information on the proper use of Is? (Choose two correct answers.)

A. option Is
B. usage Is
C. manual Is
D. manls

E. infols

Answer: DE
NEW QUESTION 53

The current directory contains the following file:
-rw-r—r— 1 root exec 24551 Apr 2 12:36 test.sh

The file contains a valid shell script, but executing this file using ./test.sh leads to this error: bash: ./test.sh: Permission denied

What should be done in order to successfully execute the script?

A. The file’s extension should be changed from .sh to .bin.

B. The execute bit should be set in the file’s permissions.

C. The user executing the script should be added to the exec group.
D. The SetUID bit should be set in the file’s permissions

E. The script should be run using #!./tes

F. sh instead of ./test.sh.

Answer: B

NEW QUESTION 57
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